FAF 10958 ERD 2 KPP B L NKEFHEILE

o (BERE) # &

A &= f |

3
#R AT g AR AL A g
Marimminang 2+ B EE R TR LT -

R TR T P

B e TP
TEAMD 1098 ERD 2 WA P B L KiF

B & ELiE RJIT

FOF A AR BRL & 90%,;;{?4“%1

E‘ﬁmir’ﬁ»g"* o Rl PF R 100 & 450 TEF F4n8 0

#4 Rk o

‘};Tiiiﬁ'

1. * ’é"g\ijp‘l_l—t FREHR L FHF F4e o

2. nxﬁéi%”ﬁﬁlﬁa % &k 2
FERT RGPS
3l S A

-—_\
\

é\ ’-‘:L'E"L ///







KT R EMS

[S—

B (£ 50 4L 542 08 & > £ 40 &)

KRG ARFFRFEHREDS RO LTI F R g T id § nF L

;ﬁ(The theory of learning by doing) » #i&@m 2+ HF i ~ A @ F ¥ § kT 5

w7

(A) 2 ## L (William James, 1842-1910)

(B)A f #7(Charles sanders Pierce, 1839-1914)

(C) @ (John Dewey, 1859-1952) ;

(D)#* # = 4 (Johann Friedrich Herbart, 1776-1841)

KERBRTAEF P BRI IIERE > 5T

MERRL AL E B g '? ?

(A)x L B4 (B)iz & idb OF 27 (D)F- & %2+

fo LA A ;&?iﬂ%ﬂi#ﬁ N B FEEERR AR EFESBW L T4 R SE R

o FHEREF TETEL ) o IR T rﬁ“ﬁéﬁaﬂ_ﬁ Pad 24, ?

(A)e F (B)z (C)= # D) £ ¢ =

ERTAEEFIHER IAAEFEY ERATFTHRS > AL+ [ hf fehlaiF

EF > S RN N B S B SR o ;ﬁﬁ&’ﬂi rEIEY AR i?'iﬁﬁ’ﬁi A
REA PR YA cFHETUT PREE T FES e - A | AR

BEA A9

A)F MEF EE BRI EE  (OF Bt EE (D) E S

AR HE A OF R B ank g FE A4 FEAL DI FAEPE rﬂ“%ﬁ»,@

IERFRL TR RFFIREY SRR R LT ua'g FORATEAY AT Tl R

&7

* 2 & Parson(1964) 7

(A) s (B)}_ Ty (OF S 1 (D)F 32 s
T 7 rR- 38 A £ (7 F E (Peter Senge) H A ks A1 iE Fenileg ?
(A) .E'_#« w e BB &Y (C)p b4z 4x (D) & 23

AERFFCE I (F2 ¢ T 5| 7}@?%2.9‘&‘«? L g en 2 ’K#F] K A
R 2L A ik SRR B & AR B R
REEAREPINEF ?

(AR i % i (B) e (C) ik 5* D)F=

e AT T ARR 2 P o TARE S i 2 A AR H KT e B M
L EE B R SRS E P AR E AR T R TR chE MR F S

TRE?

p
Wi E R E OB E O



10.

11.

12.

13.

14.

15.

16.

Fris g 72 (Knowledge Management, KM) e 32 & » 53 5 ,Hf)%k BIATH dE A ang]ig o

Tl o fdF i g LA R R F ARG B L R o M S [T e ehAvia e

W5 - el kg ?

(A) 7 (B) 73t (O D) E

TP ARARPETIL B AR AIFT 2& - AFe £ 3 E Bok

TR G ET T RS FHEM R T IR ) AR T R AT KT A ph o

7P 7

(A)H & (B) £ 37 (C) > % (D)& 5

KT MR ETRA LA 2 F b o FAAAKT YRR T 6

PECFRAEST IR O RIRANER ¢ AR ‘ﬁiﬁﬁ% FL- 2R A

AET | PRRA?

(A) £ 3 B)LF ¥ OrLEF (D)2554 28

ARMBETERBHEBM L EE NG TRTARGE T KT AR FahigE ]

He” At BBy HGE R £ XK UF KE k" BRI G chigfR

HIE =R

(A& ¥ (B)5 24

(O 5 #& (D)3t 5 4 freit ¢

PRI E A2 THEY R REEE e BEEREAT LK

FrEoX22 Y AR AR FFEET AR RE I RTINE P I E

FEM ZFERRFITHE P EA0TFE P BT 4 P o AP AT INERT

HE?

(A) B 133 % (B)% i£% (C)E 4R 4 2 (D))= % f7 i

FLi @ Y A IREF e & 50 4 0GR T PR AR EF 2 R B g o B K

R » PR A BEE I E AR - KE R RETE2 ¥

BEMQ

(A) 7B % % B) & wEil (C) B 4R (D)FL5 3 2

BAppRFhefid3 Y @olBEAdihe B e Qi) 5 T ri- 48

F2pic Ry §eh1 TR TPRLAFII: F% - S RBB L 2 o8 L4

o

(A)h & L& (B) &% % & (C)PRF% £ (D) ¥ i3 % &

TP HEERB LG 1&* FV ARG F R LTI R A OH B E A
R AT RS DRBFLOFEVEE K RIHEFL YR

(A) 7 7] 3¢ (B),-% il (C)F13% ¢ (D)-] &5\



17.

18.

19.

20.

21.

22.

23.

24.

HEFAR P ITH_L 3F @’FﬁfT&h e B 4§ —%-Fp T OFT 5_? g T
?”mg-\'}é\ﬁv]E‘\’é“g%\]‘E‘é’E‘g’ Z-'i:é §4mﬁr‘153‘775b}i‘}\? ﬁJo];Lb,?I

EFF L_xE‘.f’rfT‘ekr Hﬂé?g&q* FR— fﬁ;}ifﬁ )y R "E‘_f‘rﬁf:r@\"% ‘?

(A)FCgR i % ek 77 (B)fi- s #1604 73
(C) 4 %M [ et 7o (D) & & 3 i et 37

LR W Eoms Y o "p Jd B f (free association)" R - BRI kg € on
g ?

UNEREES T8 (BYAEAL A 1156 5 3%
(GEETES ¥ JT3 (D) 535 & shin g £ %

EAP R EEG Y TR AR AR R IR o AR P P R B
47

(A)p 7 (B)A & & (OF- (D)a =~

1980# %2 fs > grFE AL g DR [ {2 v 124 | (post-subcultural theory) - #* 14
JRE G S E 2 ARk AR S AR T AT R e I el i A L AR 7

(A)if £ B+ 514 (B | 5
(C) 3610 2 &b Bk = 2 4L (D)da 31 & B AR kAR T R

P BFRi 2B EL5ABB0 ERFLE kg 1 7pahkir >N
a0 - fla JTE 4 A hagR e i o SRR S B R Pp Y T R IR R R 7
(A= it £ R (B)= it & %

(€)% i 2 s (D) i* & %%

FlFE L5 F R RPN R 2 0 BRI R T S0 B X F ¥ AL (PLO) #
B0 33 $E0EFRKTEATDES o AR LT RAMA DR Y
(A)gief iz (B) it = 47 (OF & 34 (D)p # 3 m
1980& R fs » & F 5 R fRfEd Iy sed N 2R gL F 4 o 2P 374 o

A % (neo-liberalism) g » & = 5 3F 5 B Rk scd gL 4 o FR T —%zi

ZERTA D AR T AR D

(A)’;L T ii%té‘ﬁi#v

(Q%%N&?ﬂ

(D) *e 7 7 4

RHAL G PR IR R RO D S P A %a@?ﬁ%ﬁw*%%“‘
NEAAAAAES $ o Bk
R AR T P PEA?

(A i 5% (B)* i 3% (© i § (D)= i 412



25.

26.

27.

28.

29.

30.

31.

32.

33.

P EER R IRFLE B 4 Rk

BERrEpARFRAFHEpRMEFTES X Pland-8 o JEFe J R G Rk

w0 @*% TR, (problem-posing) &5 1 H £ F 4 & 3 B3 44 ot o 3

RSg B G T e f TR TR 7

INER TN Y. (B)sI & 4 & ©)& i (D 2%7 %
FRALFFRRBZFRIEE T 0 58 5l i

ffeE it AR 2 ZFFRNL G PR RE R U AERETIRET

K e ?

(AL 4 F 4 (B)it § T (C) % He T A (D).G T *

ERRTAE %‘?iji (Paul Willis) & (&% &% 1) (Learning to Labour)

3¢ %2 T IMEFAESES AT RE M d o s { AERERPING A

FEA R HICERE o R EERE LT PEHE?

(A= 412 (B)gad | O)F 1 & (D)= i+ 4

AR (L ERAA AT SRS R ) ¢ R R AT B AR T A

BT IR B RGRAR K IR B 5 4P 3TT

(A)= it 8 % (B)ieHd % (O) XA % (D)H A1 3

T A5 MR (J.Dewey) ¥ &= ,{{’fa-ﬁ&ﬁﬁﬁ?

Az 2R 237 TR

(B) & ARJEF & 30 5 P4 5 4 g ot i

O ERBRGL FRT HE

DAy + 22ET € HFHF S 5L

TefF 1l plec | ZEREZFERT AP IF 1 F T e g 1 jaat g3 o LB

YT R IR FCT eh g 7

(A) Tt i (B)rcif s it (C)it- & = i (D)% i 7 i

= (J. Dewey) % ;;%i’*;i?r% £ AR KT LEAF EFAEE for LR

BAR BRI E kR A ERAE RS FRAAK G SRR T R

AR R L B ?

WLFEFHRT B TR ORF - D)2 ETHT
AR L 3T Ty S
(A)p 745 R (B)¥ & &~ (C)= i b7 2 (D)PRF% A

ARIBELFFTHRKT D28 AREFRELEESFRKT DT L KEHE=
HoghHuTiRrERd P ER&R 4 7
(A) g 2 A?U‘%E (B)i%

sé?f w B
O3 MK~ LI # (D)# E 1

%
=

&



34.

35.

36.

37.

38.

39.

40.

41.

42.

T K A R H 2 e e o A ?
(A)F p L PR &% § vk fdilR e

(B)- L erdpp FHBA TR ESp
(O)F peprFAx kA% £ > T2 @01 F .
D)Fl:E R & * Figm NIER ~ A xf\ﬂfr§ VE RN
FRE BT~ TR 1 P4 3R R ERAE IR L A

sk e A R “”@ﬁ A e B sl A T R
2 % (Johari Window) | €% — B Ed ?
INEESES (B)7 B A 2 ()R i p 5 (D)4 o f #

T A2013F = 2 rﬁ%ﬁq&ﬁ‘ x5 | (The Olive Branch Center, OBC) #4413 T%‘« )
BRI RO B ARFHAEEREE o B - A b T AR

Y
(AYFo it & 12 2 (B)# 34T B 38
(C)E?\.@ [l S (D)Fe Tro¥ 7 —:Ei i

KPP HARF RGP FHE YD RNER S T AR E R B ?
A EBEEF L a1 | 5 2ggfm o T

B)idE4 F e % 4

(O p i 2 RS DR

OV NES S FERE LY P

2 EEEHET F 43S Brunen#k B T HERKE 2 | R GFRS PR §F Y
A EKEERY FR?

(m%a%% B)L i (O if (D)j#age
P edE T as 5% s ME R § R IR ks 0
(Mﬁ@i% (B)w 12 o (O%E£$ (D)

BREFARENE AP FEOREEE ST A GRE Y PR kdp F AR
M. Gagné) et » R X fFFenie B H 87 M3l 84 P ) A f?

(A)7 = 8 (B)3 1421 3, (QH%%% (D)if #& & if
TEFHE R T ok b RFEL BEARE L B E A frﬁm F e
R T REF ARG - fa :‘;ir--F et ?

(A)B 3 (B) § 55 (C) A 5 (D)#c's H %

KT FET ﬁ? = £ (J.F. Herbart) L s5E % E Rk "R ~ B& -~ LA RY | 0
=5 A se%@%i?".ﬁﬁrﬁi afe ik c He e Tpg & T R avisgk
g R R ehE i ipiT ?

(A)p & R B B)FEE Y R (C)#FF ™ kA (D)3 SR P



43.

44,

45.

46.

47.

48.

49.

50.

FiT £ k2 Bt FRELPRP KPS 223 5 0B R 03 1
ERBERERERFr B POR R o B EKY O VRS AR YR &
IR 8T 5] e AR % BT 2

(A) B % 7l (B)!“ 8 ve s i (C)= & 22k (D) & <l
Tl R RS E R AR ] iR 2

A)F TR FE - ARIKED BRI RRTH LR

B)~ 178 4 1% > 4 £5 BER B H T 42850%

ON FaizAR > 3 L3R R- B3 ey

DAFEFAEF?  RTERFFHLF AL EF ML &

PN AL SHEEA  BFSHEH A DY s s b5

TR (5~7~10~13+15) 5 25T (8-~9~10~11~12) > 10T chfy o 52t & 4n
fit o i F a2

(A) FLif 3 FEFA (B)A FLeh1v dc— 5

(O)F sramifR i £ i+ (D)5 FLenT oL @ 50
HEFERAITEINAET BB BBl - i * T o RfEstr 2 7
(A)+ > 4 T (B) t ¥ & (C)ix jf 4~ 17 (D)% & &~ 47

% ¥ 5 *(evidence-based) r[* LB 4 s B R TR R B s 2
(A B2, (B) it 5228 (O) ¥ 224 D)p M E %

B FORET Ritd o il LRI SV R R L Ra R
PEYER O R A e Rk ud 9

(A)F & v OESEES (O & ot (D) 5 v
FREFFERHFERAL I8 DS FRFER T 51 E N i 54 p o
B o HR e RGE 5L R R T R D

(A)e R ER (B) & imirt: (O f Mt (D) & % & 2
e S S G B

(A & A e AL o e

(BB teifefe ot I 3% efe

(C)3cFF ch b J 0 e ez

(D) e[ 6 hF ¥ S &



S
R

FI(EF)

EHEE (X 404855 15 » > = 60 ~)

51.

52.

53.

54.

55.

56.

The United Nation (UN) has declared two crucial destinies of family in order to
maintain and reinforce the importance of the family system. Additionally, UN named
that year International Year of Family. What is the year and the two determined
destinies ?

(A)1991; resources and production (B)1991; life and responsibilities

(C)1994; resources and responsibilities (D)1994; production and responsibilities
Lake Placid Conference, 1899, named the academic ficld Home Economics. Who was
the chairperson and the key role in this first conference of the field ?

(A)Maria Tecla Montessori (B)Ellen Swallow Richards

(C)Emma Willard (D)Grace Dodge

According to World Health Organization (WHO), what is the definition of aged
society ?

(A)The elderly citizens aged above 65 make up 20% of the population

(B)The elderly citizens aged above 65 make up 14% of the population

(C)The elderly citizens aged above 65 make up 10% of the population

(D)The elderly citizens aged above 65 make up 7% of the population

Which of the following statements about the content and implementation of family
education is WRONG ?

(A)Family education is a lifelong education.

(B)Marriage education is not part of family education.

(C)Parent-child sharing is part of family education.

(D)There is no fixed model and scope for the implementation of family education.
Which is FALSE about the principles of individual development in human
development ?

(A)The direction is from head to feet-and from torso to limbs.

(B)Though it has individual differences, it is predictable.

(O)lts rate varies in early and later phases.

(D)It goes from separation to-generalization.

Which of the following laws. related to family education is enacted by the Ministry of
Education ?

(A)Family Education Act (B)Domestic Violence Prevention Act
(C)Juvenile Justice Act (D)Genetic Health Act
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Which of the following scholars divided the personality development of infants and
young children into five stages: oral stage, anal stage, sexual organ stage, incubation
period, and gender stage ?

(A)Freud (B)Piaget

(C)Bandura (D)Maslow

A family with three generations of grandparents, parents, and unmarried children living
in the family is called:

(A) Extended family (B) Nuclear family

(C) Stem family (D) Blended family

Regarding the changing economic function of family, which of the following
descriptions is correct ?

(A)Changed from consumer unit to producer unit

(B)Changed from producer unit to consumer unit

(C)Changed from individual consumption to family consumption

(D)Changed from family-based producer to individual consumption

The slogan, pre-marriage CPR, is included in the course of educating pre-marriage
designed by the Minister of Education. What do the initials C, P, R stand for ?
(A)“C”’(Commitment) , “P”(Problem-solving) , “R”(Resources)

(B)“C” (Communication) , “P”(Problem-solving) , “R”(Resources)

(O)“C” (Communication) , “P”’(Problem- preventing) , “R”(Relationship)
(D)“C”’(Commitment) , “P”(Problem- preventing) , “R”(Relationship)

What is the meaning of CNS certificate mark, authorized and managed by The Bureau
of Standards, Metrology and Inspection, MOEA (Minister of Economic Affairs),
R.O.C?

(A) The product exported is registered to be inspected.

(B) The product is energy efficient.

(C)The product has been inspected in the domestic markets.

(D)The product complies to the national standards.

Which of the following is NOT the status of Taiwanese families in a changing society ?
(A)Reduced family size

(B)Less cross-national marriage

(C)More nuclear families

(D)Vertical development of family structure
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In the power relationship between husband and wife, it is believed that one spouse who

has more income and other.resources will have more decision-making power. The

theory is:
(A)Family development theory (B)Life history theory
(C)Development theory (D)Resource theory

The family life cycle is divided into 3 periods and 8 stages. Which of the following
statements is WRONG ?

(A)Proposed by Freud (B)Including establishing stage
(O)Including expanding stage (D)Including contracting stage
Which of the following statements about blended family is correct ?

(A) Both husband and wife are remarried.

(B) Both husband and wife bring their children from the previous marriage.
(C) There may be step-siblings in the family.

(D) There must be half-siblings in the family.

Which of the following washing care labels is WRONG ?

(A) 177 Machine wash (B) A Do not bleach

(C) /—\ Iron (D) O Tumble dry

According to the “50/30/20 budget rule”, we should divide the income after-tax into:

50% 30% 20% respectively.
(A)Savings, Needs, Wants (B)Needs, Wants, Savings
(C)Wants, Needs, Savings (D)Needs, Savings, Wants

According to the American Association of Family and Consumer Sciences, which of the
following is NOT the major subdivision of home economics ?

(A) Sewing and Textiles

(B) Sports and Life Activities

(C) Health and Hygiene

(D)Home Management and Design

Effective concentration of disinfectant for equipment disinfection, which of the
following is correct ?

(A) 0.1% benzethonium chloride solution

(B) 95% alcohol

(C) chlorine solution with 0.02% residual chlorine

(D)3% saponated cresol solution
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Which of the following statements regarding fructose is NOT true ?

(A) Fructose is a low glycemic index sweetener.

(B) Fructose increases serum uric acid level.

(C) Fructose and sucrose have the same calories per gram.

(D) Fructose-sweetened drink 1s healthier than sucrose sweetened drink.

The faucet turns to blue for cold water and red for hot water. Which color psychological
feeling does the design use ?

(A) Area (B) Distance (C) Weight (D) Temperature
What color is short wavelength, with shrinking and heavy visual effects ?

(A) White (B) Red (C) Blue (D) Yellow

When frying eggs, remember to wash your hands after you beat the eggshell. Which the

following bacterial infections may be caused due to eggs ?

(A) Vibrio parahaemolyticus (B) Clostridium botulinum

(C) Salmonella (D) Bacillus cereus

Which of the following oils is'the lowest in smoking point ?

(A) Flaxseed oil (B) Coconut oil (C).Canola oil (D) Palm oil

Which of the following characteristics is NOT associated with starch retrogradation ?

(A) Leftover, long-grain rice gets hard

(B) Amylopectin retrogrades and recrystallizes in bread

(C) Expulsion of liquid from a cooked, cooled starch gel

(D)Exposure of the starch granules to dry heat

What is the rule for claiming and labeling a product as ‘‘whole grain” in Taiwan ¢

(A)The product is made with at least 51% whole-grain on a dry-weight basis.

(B)The product is made with at least 30% whole-grain ingredients by weight.

(C)The product is made with more whole-grain ingredients than refined-grain
ingredients.

(D)The product must contain at least 8 grams of whole grain per serving.

Which statement is NOT true about physical structure and composition of eggs ?

(A)Yolk color varies with feed of the hen, but darker yolks have a higher carotenoid
content.

(B)Shell composes largely of calcium carbonate.

(C)Thick albumen is the major source of egg vitamins, minerals, and fat.

(D)Shell membranes provides protective barrier against bacterial penetration.

The molecular unit of protein after digesting 1n digestion tract is:

(A) Glucose (B) Water (C) Amino acid (D) Triglyceride
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Which of the following statements concerning cholesterol is NOT true ?

(A)Dietary cholesterol is not the main factor which elevates blood cholesterol.

(B)Blood LDL-cholesterol can repair the arterial injury.

(C)Plant foods do not contain cholesterol.

(D)High saturated fats intake 1s the main factor which elevates blood cholesterol.

How many grams of protein are contained in the following meal: 1 cup (240 ml) low fat
milk; 90 grams of chicken breast, 1 bowl (400 g) rice, 100 g of lettuce, 1 small apple ?
(A)38¢g (B)48 g (C)58¢g (D)68 g

Which of the following statements regarding coconut oil is NOT true ?

(A)It is the most natural and healthy edible oil for human.

(B)It contains medium chain triglycerides.

(O)It contains 90% of saturated fatty acids.

(D)It accelerates the production of ketone bodies in human.

What does the dependency ratio.mean ?

(A) Population over 65 years/old to working age population.

(B) Population aged 0-14 years to total population.

(C) Population aged 0-14 years and over 65 to the total population.

(D) Population aged 0-14 and over 65 working age population.

Of the mental illnesses of the elderly population in recent years, which of the following
has the highest prevalence ?

(A) Dementia (B) Depression (C) Alzheimer's (D) Parkinson's

After divorce, which is the recommended first step to take ?

(A) Develop goals for the future

(B) Accept the fact that the marriage is over

(C) Receive justice from the former spouse

(D)Achieve balance between being single and being a parent

In the “ecosystem theory” (Bronfenbrenner), for a child, the mother's long-term
participation in a community activity is a system in which the individual is not directly
involved, called:

(A) Microsystem (B) Macrosystem

(C) Exosystem (D)Mesosystem

Teenagers like to drink carbonated beverages such as cola and soda. What kind of
mineral is higher in such foods ? Excessive intake will affect calcium absorption ?

(A) Phosphorus (B) lodine

(C) Iron (D) Potassium

11
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The Food and Drug Admi
should NOT exceed:
(A)6g

C)42¢g

Which of the following foods ma tain e amide ?
(A) Grilled steak
(B) Smoked fish

(C) French fries

(D) Dried vegetables

In the Table Manners, when

people's daily sodium intake

ment of the water glass and the

t
bread plate is:
(A) Water glass on the upper right upper left
(B) Bread plate on the upper right and water glass o
(C) Both on the upper right
(D) Both on the upper left
Which of the following is
effect 7
(A) Nitrous oxide

(C) Carbon monoxide

e upper left

sible for the global greenhouse
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